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Find the distance between two points o) s Adasall 22 )

A(-5Z)and B(4, %) B(4,%)s4(-57)
O 3
O Vel
O 9
O 1
Find a pair of polar coordinates that i A Akal) cldlaay) Ga g s sl
name the point 4 (‘L% in the 0<8< ;rri_;ﬂ'lq'l..d (4'%) i)
interval 0 < 8 < m.
O (-+)
0 (+3)
0 (43



Write an equation for the graph. i) Jaill e s

s
09=§
T
09=E
O r=1



Find the rectangular coordinates for N (5.;’.) ALRil faalatall cildblaay) sl
. n
the point N (5,5).

Write the equation tan @ = 4 in 5sall A2 tan 6 = 4 Adlaall s

rectangular form. A sl

O x¥*+y*=4

O y*=4y



Express the complex number

(3 + 3i) in polar form.

O \E(cas%—isin;)
O 3v2 (sing + icusg)

O 3V2 (cnsg - isin;)

O 32 (cosg + ising)

Which survey question is biased?

Do you play any extracurricular sports?

€ayta Juy ol Aighiiy cdands (oI aadl) 35S (3u)h La

sl (3 + 3i) Sl amll 06 i

Audsdll

feotaiady) 2 jadall Jiid) La

Which is your favorite soccer team, Barcelona or Real Madrid?

Tliags cipds plal ya LS 5

How many glasses of water do you drink a day?

Al i plgie B (et iy T dia

How long have you lived at your current address?



Which situation describes a survey? TSk iy (gdll cadgall e

cduta plgd Adlad (gua LIS Aigf) il (gaa) wij
(O A pharmaceutical company wants to test whether a new medicine is

effective.

a (G5 ey 28 cptmiie AL OIS 1Y La dima did] g alie Ald 15
i gl Cisbayis Wlsde 013 200 Qg Bl gali B AG LA

(O A national pet chain wants to know whether customers would pay a
small annual fee to participate in a rewards program. They randomly

select 200 customers and send them questionnaires.

A peetl) ALalS QLYY clatial pasdieal) g Cpasiioaall dudys dlad G4 1y
g eyl Cligivua o 5 oS5 o35 (e Baaly Lie IS 13 L 3aa3l agiling
o) gs
A research company wants to study users and non-users of full-
fat dairy products in their diet to determine whether ] year of

non-use affects cholesterol levels.

eha) oL bl gailes Lggalss (B ducawstyl) JSUal) asad o) 53081 deayda 255
sphglanag JLEAY) G0 (s Lilgde Liadd 50 1palds . salal) jLad)
(O A driving school wants to determine the main issue drivers face
while taking the driving test. They watch and record 50 random

people taking the test.



Which of the following charts that is a3 gile pujgi o) A cllabdall e ‘.5‘

positively skewed? € Oal)

O le o k(|

' 50% " 5006 '
O

30 40 50 60 70 80
0 |

" s0% | 50%
O

30 40 50 &0 70 80



Which random variable is OSlaiie Lilpde hate s pde it gl

a discrete random variable?

Aina L 58 s i g
The height of a plant after a specific amount of time.

g el (sua) b Ul Jolan lske

The amount of precipitation in a city per month.

Egaad JE dalicaal) Jiluggl) 200

The number of texts received per week.

ol Gl Ga Al @abal) Glileall

The exact distances of a sample of discus throws.

The distribution below lists the Cladll Clpe 256 Sladal oliol a3 al) gy
probability of the number of major O e @lgall JHA milil o adalial
upsets in the first round of a basketball = a35ial| sall s Lale Jo) ALY 3€ A1 ghy
tournament each year. Datermine the o JY

expected number of upsets.

Number of Upsets Per Yaar

Upsets D1|?343EM01‘2345|5

5 1 3 1 1 § 1 1131|582

Probability -2 - 2 - - - s |7 |8 |%w ]| 7|
O 4.34237
O 5.43375
O 3.4687S

QO 3.4375



According to a recent survey, 85% of 85% A A5 @;I E:J.h:.ui o) 13

high school students own a personal Sidia gl Al Galaal) b e
media player. What is the probability 6 Jdbu {;,i Jlada) L Jdailagll Jalsl Ladl
that 6 out of 10 random high school dgllh dadll A Lilgie bl 10 J€ 0a
students own a personal media player? thilugh Jadsl Luadd Sata
QO 60%
O 4%
O 012%
O 96%
In a normal distribution with mean =27 hu q;.'t Jgran-il t.},m o
p = 27 and standard deviation X 4o Loio = 0. 4 glaall iladyly
o=0.4 whatis Xif z = 2.57 tz=2.5 sy
O X=31
O X=41
O X=37



The heights of the 880 students at dagilll] (8,50 A pia Uil 880 Job st

Al-Sharq Secondary School are -6 cm Sl Liladly 168 cm by Lank
normally distributed with a mean of it kel Tl Cudh oikdall Agtad) ol La
168 cm and a standard deviation of 180 cmy 156 cm

6 cm. What percent of the students
are between 156 cm and 180 c¢m tall?

p=3o p=2o p=a g pto p=2o p+dT 4 lr -0 p-0 0 U+ 0 p+20 p+do
Aol distrisehiog with rress prand standerd des 2t on o [ SPRIEPRUTIE L, TP | TN | RS

O 81.5%
O 68%
O 95%

O 63.5%

Estimate lim f(x), using the graph  .olsl Ll Jall slasiul o lig] f(x), %
X x=0"

below.

O 4



Evaluate limv8 - x. Jimyv8 - x 41.!1

x—3 x—3

O V8
O 5
O 3
O s
Evaluate x]i’|113 Iz_xz+ﬁ -llm M e
x»=3  x+3 )
O 8
O o
O -8



O o

30

18

33

. T -3a41
Evaluate [im _+
x=m 2x%+4x

Evaluate the definite integral.

2
f{xﬂ + 10) dx.
-1

41m ——ia
r=o0 2x3+4x

7x}-3x%+1

agiaadl Jalsil) Aad da gyl

2

: ](:rz + 10) dx

-1



O -4

o 2

O 8

O 4

O 144km/h
O 6km/h

O 36km/h

O 72km/h

Find the slope of the line tangent to y=x2 4+ 4 D) Gl Gelead Jua 29
the graph of y = x% + 4 at (—2,0). (—2,8) dadl) ic

The position of an object in kilometers ¢ aaa e plSll Le aess alnga alag] ol

after ¢ minutes is given by Bagia 2agl o5(2) = 0.20% DA (e Ak
s(t) = 0.2¢%. Find the average b Acladl (A aslell Bang acall deydl
velocity of the object in kilometers per 2 St < 4 ddiah saa
hour for the given interval of time wolelud) ) @R e Jagadll SN

2 =< t < 4. Remember to convert from

minutes to hours.



Find the derivative of the function il A 2a gl
f(x) = 5x% —9x* + 8x° S(x) =52 —9x* + 8x°

O f(x) = 15x% - 36x> + 40x*

O ['(x)=15x —36x* + 40x°

O [(x)=15x*-36x> + 40x°

O f(x)=5x*—-9x*+8x*

4x¥-3x%4+5x

Find the derivative of the function Ji(x) = —————— D damda sagl
4_3.2 *
h(x) = 4x*-3x*+5x '
16x° - 6x+5
O hix)= o *

O h(x)=12x2-3

16x" — 6x° +5x2

O n(x)= =

O h{x)=16x"—6x+5



Find all antiderivatives for the
functionf(x) = 10x*-4x* - 3x%2 + 5

O F(x)=10x*—4x*-3x2+5x+C

O F(x)=2x"-x*—x*+5x+C

O F(x) = 10x°-4x* - 3x3 4+ 5x + C

O F(x) =40x*—12x*—6x+C

Al Loal) SlEEL auan 394
S(x)=10x*—-4x3 = 3x* +5



Approximate the area of the shaded
region for the function below by use
the specified endpoints to determine

the heights of the rectangles.

5 rectangles
right endpoints

O o o

l‘l:l)& 5&1’ 13. 5

13.5 square units

;.n._.r_;.n 5in3 9

9 square units

3..-:9.. Biay 12.5

12.5 square units

il:l)l baay 15

15 square units

sUal ANall AWK dakial) dalice i
Bl paaiu) Gl Colkieal) 32 alaidul
celabiod! Glelis) saat! dads ga) Al




